Arithmetic

Monday 25th November
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3643 + 801 + 522 =] |

924 x 58 =[]

856 1= ]

59.01 x 1000 =[]
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2225 x 10=[ ]

4%0f 5000 = ]
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6x39= |
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1320 12=[ ]

80000 — 800 =[ ]

[ |=892xs5

5157 x 76 = |

6.94 = 10 =|:|
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816 + 51=[ |

25435 5= |
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On a piece of paper, show your working
where you need to.

Press mark when you think you have
finished.

Rocking it! 1-12

Really Rocking it! 1 -24

Check to see if your answers are correct.

1 (3643 +801+522=] 3 |
856 + 1= 856 |

10 +[ 934 |=1944

4600 =2 =[ 673 |
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Have another go at the ones you got
wrong. Ask an adult if you need help.
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